Iron-Catalyzed Cross-Coupling Reactions of Alkyl
Grignards with Aryl Sulfamates and Tosylates

Toolika Agrawal and Silas P. Cook*

Department of Chemistry, Indiana University, 800 East Kirkwood Avenue, Bloomington, IN 47405-7102

Supporting Information



Table of contents

General Methods

General Procedure for the synthesis of Aryl Sulfamates
General Procedure for the synthesis of Aryl Tosylates
Cross-coupling of Aryl Sulfamates and Tosylates
References

NMR Spectra

11

16

18



General Methods

All reactions were carried out in oven-dried glassware with rubber septa under a nitrogen
atmosphere unless otherwise stated. Analytical grade solvents and commercially available
reagents were purchased from commercial sources and used directly without further
purification unless otherwise stated. THF was purified according to the Grubbs procedure.’
Thin-layer chromatography (TLC) was carried out on Merck 60 F254 precoated, glass silica gel
plates which were visualized by ultraviolet light. *H-NMR and *C-NMR spectra were recorded at
room temperature using a Varian 1400 (1H—NMR at 400MHz and *C-NMR at 100MHz) and
Varian VXR400 (*H-NMR at 400MHz and *C-NMR at 100MHz). Chemical shifts are reported in
ppm with reference to solvent signals ["H-NMR: CDCl; (7.26 ppm); >*C-NMR: CDCl; (77.16 ppm)
]. Signal patterns are indicated as s, singlet; d, doublet; t, triplet; g, quartet; quintet; hextet and
m, multiplet. Infrared spectra (IR) were obtained on an Avatar 360-FT IR E.S.P. on a NaCl salt
plate and recorded in wavenumbers (cm™). High Resolution Mass (HRMS) analysis was obtained
using Electron Impact lonization (El) and reported as m/z (relative intensity) for the molecular
ion [M], or with Electrospray lonization (ESI) and reporting the molecular ion [M+H]" or a
suitable fragment ion.

Experimental Procedures

A. General procedure A for the synthesis of aryl sulfamates

A round bottom flask was charged with NaH (8.8 mmol, 1.5 equiv, 60 % dispersion in oil),
placed under a N, atmosphere and then cooled to 0 °C. A solution of starting alcohol (5.8 mmol,
1 equiv) in DME (40 ml) was added dropwise to NaH. The resulting solution was warmed to 23
°C for 15 min and then cooled to 0 °C. N,N-dimethylsulfamoyl chloride (7.0 mmol, 1.2 equiv)
was then added dropwise to the reaction vessel. The reaction was allowed to warm to 23 °C,
stirred overnight and quenched with a few drops of water. The solvent was removed under
reduced pressure, and the residue dissolved in EtOAc (40 ml) and water (20 ml) and transferred
to a separatory funnel. The layers were separated, and the organic layer was washed with 1 M
KOH (20 ml) and water (20 ml). The combined aqueous layers were extracted with EtOAc (3 X
20 ml). The combined organic layers were washed with brine, dried over MgSO, and
concentrated under reduced pressure.

NaH, DME, CISO,NMe
PhOOH 22 PhOOSOZNMez

SlI-1 1

4-phenylphenol sulfamate 1. The title compound was synthesized according to general
procedure A. The crude residue was purified by flash chromatography on silica (6:1 Hex:EtOAc)
to yield sulfamate 1 (89% vyield) as a white solid.



TLC: Rf = 0.40 (hexanes:EtOAc = 4:1).

'H NMR (CDCls, 400 MHz) & 7.62 — 7.52 (m, 4H), 7.44 (dd, J = 10.2, 4.7 Hz, 2H), 7.39 — 7.31 (m,
3H), 2.99 (s, 6H).

C NMR (CDCls, 101 MHz) & 149.60, 139.86, 128.84, 128.41, 127.58, 127.08, 121.99, 38.77.
HRMS (EI) Calcd. for C14H15sNO3S, 277.0773. Found: 277.0758.

FTIR (NaCl) 3447, 1652, 1484, 1361, 1188, 1150 cm ™.

NaH, DME, CISO,NMe
MeO@—OH 272 ~MeOOOSOZNMe2

Sl-2 SI-3
SI-3 (Table 2, entry 1). The title compound was synthesized according to the general procedure.
Purification by flash chromatography on silica (6:1 Hex:EtOAc) yielded sulfamate SI-3 (77%
yield) as a white solid. Spectral data match those previously reported.’

'H NMR (CDCls, 400 MHz) & 7.21 (d, J = 8.0 Hz, 2H), 6.90 (d, J = 8.0 Hz, 2H), 3.77 (s, 3H), 2.92 (s,
6H).

NaH, DME, CISO,NM
MeSOOH 2 2% |v|es.«j%osozmv|e2

Sl-4 SI-5
SI-5 (Table 2, entry 3). Purification by flash chromatography on silica (6:1 Hex:EtOAc) yielded
sulfamate SI-5 (93% yield) as a pale yellow oil.
TLC: Rf = 0.40 (hexanes:EtOAc = 4:1).
"H NMR (CDCls, 400 MHz) 6 7.23 (d, 2H), 7.18 (d, 2H), 2.94 (s, 6H), 2.45 (s, 3H).
BC NMR (CDCl5, 101 MHz) 6 147.71, 137.10, 127.78, 122.23, 38.72, 16.15.

HRMS (EI) Calcd. for CsH13NO3S;, 247.0337. Found: 247.0336.

FTIR (NaCl) 3442, 1652, 1486, 1363, 1197, 1148 cm ™.



FBC F3C

OH NaH, DME, CISO,NMe, 0SO,NMe,

F3C F3C
SI-6 SI-7

SI-7 (Table 2, entry 5). Purification by flash chromatography on silica (10:1 Hex:EtOAc) yielded
sulfamate SI-7 (73% yield) as a colorless oil.

TLC: Rf = 0.25 (hexanes:EtOAc = 10:1).
'H NMR (CDCls, 400 MHz) & 7.78 (s, 1H), 7.72 (s, 2H), 3.04 (s, 6H).

13C NMR (CDCls, 101 MHz) & 150.71, 133.87 (q, J = 34.3 Hz), 123.86 (g, J = 273.7 Hz), 122.36,
120.39 (quintet, J = 4.0 Hz), 38.74.

HRMS (EI) Calcd. for C19HgFsNO3S, 337.0207. Found: 337.0202.

FTIR (NaCl) 3532, 2100, 1645, 1457, 1366, 1278, 1131 cm™.

QOH NaH, DME, CISO,NMe, _ QOSOzNMez

FsC FsC
SI-8 sl-9

SI-9 (Table 2, entry 7). Purification by flash chromatography on silica (10:1 Hex:EtOAc) yielded
sulfamate SI-9 (78% yield) as a colorless oil.

TLC: Rf = 0.20 (hexanes:EtOAc = 10:1).
'H NMR (CDCls, 400 MHz) & 7.59 — 7.42 (m, 4H), 2.99 (s, 6H).

13C NMR (CDCls, 101MHz) & 150.27, 132.77 (q, J = 33.3 Hz), 127.33 (q, J = 275.7 Hz), 125.19,
123.44 (q, J = 4.0 Hz), 118.97 (q, J = 3.0 Hz), 38.67.

HRMS (EI) Calcd. for CsH10F3NO3S, 269.0333. Found: 269.0324.

FTIR (NaCl) 3431, 2930, 1652, 1490, 1447, 1374, 1278, 1124 cm™.

NaH, DME, CISO,NM
Cron mmmemme . ("o

SI-10 SI-11

SI-11 (Table 2, entry 9). Purification by flash chromatography on silica (6:1 Hex:EtOAc) yielded
sulfamate SI-11 (91% yield) as a white solid. Spectral data match those previously reported.’

5



'H NMR (CDCls, 400 MHz) & 8.18 (d, J = 8.2 Hz, 1H), 7.89 (d, J = 8.2 Hz, 1H), 7.75 (d, J = 8.2 Hz,
1H), 7.61 — 7.49 (m, 3H), 7.44 (t, J = 7.9 Hz, 1H), 3.04 (s, 6H).

OH NaH, DME, CISO,NMe, 0SO,NMe,

Sl-12 SI-13

SI-13 (Table 2, entry 11). Purification by flash chromatography on silica (10:1 Hex:EtOAc)
yielded sulfamate SI-13 (80% yield) as a colorless oil.

TLC: Rf = 0.30 (hexanes:EtOAC = 10:1).

'H NMR (CDCls, 400 MHz) & 7.33 (ddd, J = 7.1, 5.4, 1.7 Hz, 2H), 7.25 — 7.14 (m, 2H), 3.40 (hept, J
= 6.9 Hz, 1H), 3.02 (s, 6H), 1.23 (d, J = 10.9 Hz, 6H).

C NMR (CDCls, 101 MHz) & 147.45, 141.05, 126.98, 126.79, 126.75, 121.47, 38.70, 26.51,
23.07.

HRMS (EI) Calcd. for C11H17NO3S, 243.0929. Found: 243.0924.

FTIR (NaCl) 3440, 1652, 1367 cm ™.

NaH, DME, CISO,NMe
OH 22 0SO,NMe,

Sl-14 SIl-15

SI-15 (Table 2, entry 13). Purification by flash chromatography on silica (10:1 Hex:EtOAc)
yielded sulafmate SI-15 (83% yield) as a white solid. Spectral data match those previously
reported.’

'H NMR (CDCls, 400 MHz) & 7.04 (s, 3H), 3.07 (s, 6H), 2.39 (s, 6H).

o O o {0
Q oOH __NaH, DME, CISO,NMe, _ Q 0SO,NMe,

SI-16 SI-17

SI-17 (Table 2, entry 17). Purification by flash chromatography (5:1 Hex:EtOAc) yielded
sulfamate SI-17 (81% yield) as an off-white solid.

TLC: Rf = 0.30 (hexanes:EtOAc = 4:1).



'H NMR (CDCl3, 400 MHz) & 7.72 (t, J = 9.5 Hz, 2H), 7.66 (d, J = 2.2 Hz, 1H), 7.36 (dd, J = 8.9, 2.4
Hz, 1H), 7.17 (dd, J = 8.9, 2.5 Hz, 1H), 7.12 (d, J = 2.2 Hz, 1H), 3.90 (s, 3H), 2.98 (s, 6H).

C NMR (CDCl3, 101 MHz) & 157.90, 146.08, 133.00, 129.17, 128.87, 128.42, 121.21, 119.83,
119.03, 105.72, 55.32, 38.91.

HRMS (EI) Calcd. for C13H15sNO,S, 281.0722. Found: 281.0708.

FTIR (NaCl) 3435, 1635, 1506, 1361, 1216, 1173, 1107 cm ™.

NaH, DME, CISO,NMe,
MeO OH > MeO 0SO,NMe,

SI-18 SI-19
SI-19 (Table 2, entry 19). Purification by flash chromatography (5:1 Hex:EtOAc) yielded
sulfamate SI-19 (89% vyield) as a light brown coloured solid. Spectral data match those
previously reported.?

'H NMR (CDCls, 400 MHz) & 8.25 (d, J = 8.2 Hz, 1H), 8.09 (d, J = 8.3 Hz, 1H), 7.61 — 7.48 (m, 2H),
7.42 (d,J = 8.4 Hz, 1H), 6.73 (d, J = 8.4 Hz, 1H), 3.99 (s, 3H), 3.02 (s, 6H).

= ridine, CISO,NMe,, 452G =
QOH Py 2NMe, - QOSOZNMeZ
N N

S1-20 Si-21

SI-21 (Table 2, entry 15). To a solution of SI-20 (5.25 mmol, 1.0 equiv) in pyridine (5.3 ml) was
added N,N-dimethylsulfamoyl chloride (7.87 mmol, 1.5 equiv). The resulting orange solution
was heated to 45 °C and allowed to stir for 24 h. After cooling to 23 °C, the reaction mixture
was diluted with Et,0 (10 ml) and 1 M KOH (10 ml). The layers were separated and the aqueous
was extracted with Et;0 (2 X 10 ml). The combined organic layers were washed with brine,
dried over MgSQ,4 and concentrated under reduced pressure. The crude residue was purified by
flash chromatography (20:1 DCM:MeOH) to yield sulfamate SI-21 (50% yield) as a pale yellow
oil. Spectral data match those previously reported.?

'H NMR (CDCls, 400 MHz) & 8.58 — 8.47 (m, 2H), 7.65 (ddd, J = 8.4, 2.7, 1.4 Hz, 1H), 7.33 (dd, J =
8.4, 4.7 Hz, 1H), 2.99 (s, 6H).

B. General Procedure B for the synthesis of aryl tosylates
To a solution of starting alcohol (2.9 mmol, 1.0 equiv) in CH,Cl, (20 ml) was added Et3N (4.4
mmol, 1.5 equiv), DMAP (0.29 mmol, 0.1 equiv) and tosyl chloride (3.5 mmol, 1.2 equiv) and the

7



reaction mixture was allowed to stir overnight at 23 °C. The reaction mixture was then diluted
with CH,Cl, (15 ml) and extracted with water (3 X 20). The organic layer was washed with brine,
dried over MgS0O, and concentrated under reduced pressure. The residue was purified by flash
chromatography over silica.

CH,Cl,, EtsN, DMAP, TsCI
Ph OH » Ph OTs

SI1 Sl-22
4-phenylphenol tosylate SI-22. The title compound was synthesized according to general
procedure B. The crude residue was purified by flash chromatography (6:1 Hex:EtOAc) to yield
tosylate SI-22 (96% yield) as a white solid. Spectral data match those previously reported.*

'H NMR (CDCls, 400 MHz) & 7.73 (d, J = 8.3 Hz, 2H), 7.53 — 7.45 (m, 4H), 7.41 (t, J = 7.5 Hz, 2H),
7.32 (dd, J = 13.5, 7.7 Hz, 3H), 7.07 — 7.00 (d, J = 8.3, 2H), 2.44 (s, 3H).

MGOOOH CH,Cly, EtsN, DMAP, TsCl _ MeOOOTs

SI-2 SI-23
SI-23 (Table 2, entry 2). Purification by flash chromatography (5:1 Hex:EtOAc) yielded tosylate
SI-23 (91% yield) as a white solid. Spectral data match those previously reported.5

"H NMR (CDCls, 400 MHz) § 7.67 (d, J = 8.3 Hz, 2H), 7.28 (d, J = 8.1 Hz, 2H), 6.90 (d, J = 8.3 Hz,
2H), 6.78 (d, J = 8.3 Hz, 2H), 3.74 (s, 3H), 2.43 (s, 3H).

MGSQOH CH,Cly, Et;N, DMAP, TsCI _ MeS@OTS

SI-4 Sl-24

SI-24 (Table 2, entry 4). Purification by flash chromatography (5:1 Hex:EtOAc) yielded tosylate
SI-24 (90% yield) as a white solid.

TLC: Rf = 0.65 (hexanes:EtOAc = 20:1)

'H NMR (CDCl3, 400 MHz) & 7.67 (d, J = 8.3 Hz, 2H), 7.29 (d, J = 8.1 Hz, 2H), 7.15 — 7.07 (m, 2H),
6.91—6.83 (m, 2H), 2.42 (s, 6H).

C NMR (CDCl3, 101 MHz) & 147.03, 145.36, 137.61, 132.25, 129.73, 128.50, 127.30, 122.79,
21.69, 15.89.

HRMS (EI) Calcd. for C14H1403S,, 294.0384. Found: 294.0380.



F3C F3C

OH _CHsCly, EtN, DMAP, TsCl OTs

F3C FsC
SI-6 SI-25

SI-25 (Table 2, entry 6). Purification by flash chromatography (10:1 Hex:EtOAc) yielded tosylate
SI-25 (84% yield) as a white solid.

TLC: Rf = 0.40 (hexanes:EtOAc = 10:1).

'H NMR (CDCl3, 400 MHz) & 7.76 (s, 1H), 7.71 (d, J = 8.3 Hz, 2H), 7.42 (s, 2H), 7.35 (d, J = 8.1 Hz,
2H), 2.46 (s, 3H).

C NMR (CDCl3, 101 MHz) & 149.89, 146.50, 133.70 (q, J = 34.3 Hz), 131.32, 130.08, 128.51,
126.40 (q,J = 316.1 Hz), 123.27, 120.90 (quintet, J = 4.0 Hz), 21.67.

HRMS (EI) Calcd. for C15H10Fs03S, 384.0255. Found: 384.0233.

FTIR (NaCl) 3447, 3098, 2928, 1598, 1458, 1389, 1364, 1279, 1138 cm™.

QOH CH,Cly, Et:N, DMAP, TsCl _ QOTS

F3C F4C
SI-8 SI-26
SI-26 (Table 2, entry 8). Purification by flash chromatography (10:1 Hex:EtOAc) yielded tosylate
SI-26 (89% yield) as a white solid. Spectral data match those previously reported.6

'H NMR (CDCls, 400 MHz) & 7.69 (d, J = 8.3 Hz, 2H), 7.50 (d, J = 7.8 Hz, 1H), 7.42 (t, J = 8.0 Hz,
1H), 7.31 (d, J = 8.1 Hz, 2H), 7.21 (d, J = 8.2 Hz, 1H), 7.16 (s, 1H), 2.44 (s, 3H).

O o _CHaClp, EtsN, DMAP, TsCI _ O OTs

SI-10 SI-27

SI-27 (Table 2, entry 10). Purification by flash chromatography (10:1 Hex:EtOAc) yielded
tosylate SI-27 (90% yield) as a white solid. Spectral data matched those previously reported.’

'H NMR (CDCls, 400 MHz) & 7.89 (d, J = 8.2 Hz, 1H), 7.82 — 7.70 (m, 4H), 7.43 (dtd, J = 16.5, 6.9,
1.2 Hz, 2H), 7.35 (t, J = 7.9 Hz, 1H), 7.26 (d, J = 8.0 Hz, 2H), 7.21 (d, J = 8.0, 1H), 2.40 (s, 3H).



OH _CHCly, EtsN, DMAP, TsCl OTs

SlI-12 Sl-28
SI-28 (Table 2, entry 12). Purification by flash chromatography (20:1 Hex:EtOAc) yielded
tosylate SI-28 (90% yield) as a colourless oil.

TLC: Rf = 0.35 (hexanes:EtOAc = 10:1)

'H NMR (CDCls, 400 MHz) & 7.73 (d, J = 8.3 Hz, 2H), 7.30 (d, J = 8.0 Hz, 2H), 7.26 — 7.16 (m, 2H),
7.12—-7.06 (m, 1H), 7.02 (dd, J = 8.2, 1.1 Hz, 1H), 3.09 (hept, J = 6.9 Hz, 1H), 2.43 (s, 3H), 1.03 (d,
J=6.9 Hz, 6H).

C NMR (CDCl3, 101 MHz) & 147.01, 145.22, 141.72, 133.17, 129.73, 128.37, 127.23, 127.06,
126.57,122.00, 26.62, 23.04, 21.64.

HRMS (EI) Calcd. for C16H1303S, 290.0977. Found: 290.0964.

FTIR (NaCl) 3422, 2966, 1652, 1597, 1486, 1448, 1373, 1192 cm™.

on _CHzCly EtsN, DMAP, TsCl _ OTs

Si-14 SI-29

SI-29 (Table 2, entry 14). Purification by flash chromatography (10:1 Hex:EtOAc) yielded
tosylate SI-29 (96% yield) as a colourless oil. Spectral data match those previously reported.’

'H NMR (CDCls, 400 MHz) & 7.84 (d, J = 8.3 Hz, 2H), 7.34 (d, J = 8.0 Hz, 2H), 7.02 (m, 3H), 2.45 (s,
3H), 2.12 (s, 6H).

- pyridine, TsCl, 452C —
\ / OH \ / OTs
N N

SI-20 SI-30

SI-30 (Table 2, entry 16). To a solution of SI-20 (5.25 mmol, 1.0 equiv) in pyridine (5 ml) was
added tosyl chloride (6.3 mmol, 1.2 equiv). This orange coloured solution was heated to 45 °C
and allowed to stir for 24 h. After cooling the reaction mixture to 23 °C, it was diluted with
water (10 ml) and allowed to stir for 3 h. To this was added benzene (60 ml) and the layers
were separated. The organic layer was extracted with 10% NaOH solution (2 X 30 ml), washed
with brine, dried over MgSO, and concentrated under reduced pressure. The crude residue was

\j

10



purified by flash chromatography (2:1 Hex:EtOAc) to yield tosylate SI-30 (92% yield) as a yellow
solid. Spectral data match those previously reported.’

'H NMR (CDCls, 400 MHz) & 8.46 (dd, J = 4.7, 1.2 Hz, 1H), 8.12 (d, J = 2.6 Hz, 1H), 7.66 (d, J = 8.3
Hz, 2H), 7.43 (ddd, J = 8.4, 2.7, 1.4 Hz, 1H), 7.34 — 7.22 (m, 3H), 2.41 (s, 3H).

C. Cross-coupling of aryl sulfamates and tosylates

"BuMgCl (4 equiv)
FeF3@3H,0 (10 mol %)

PhOOSOZNMez IPr (20 mol %) - PhO”Bu

1 THF, reflux, 8 h 2

Representative example (coupling of 4-phenylphenol sulfamate 61 is used as an example)

An oven-dried 25 ml 2-neck round bottom flask was charged with sulfamate 1 (0.721 mmol, 1.0
equiv), FeFs;.3H,0 (0.072 mmol, 0.1 equiv) and IPr (0.144 mmol, 0.2 equiv). The flask was
evacuated and back filled with N,, THF (0.1 M) was added and the reaction mixture was heated
to reflux. Next, a solution of n-butyl magnesium chloride in Et,0 (2 M in Et,0, 2.88 mmol, 4
equiv) was added slowly to the refluxing solution. The reaction mixture was refluxed for 8 h.
After cooling the round bottom flask to 23 °C, the reaction was quenched with 1 M HCI (3 ml).
The layers were separated and the aqueous layer was extracted with diethylether (2 X 5 ml).
The combined organic layers were washed with brine, dried over MgSO, and concentrated
under reduced pressure. The crude residue was purified by flash chromatography (50:1
Pentane:EtOAc) to yield SI-31 (90% vyield) as a colourless oil. Spectral data match those
previously reported.®

'H NMR (CDCls, 400 MHz) & 7.65 (d, J = 8.1 Hz, 2H), 7.54 (d, J = 8.1 Hz, 2H), 7.45 (t, J = 7.6 Hz,
2H), 7.34 (t, J = 7.4 Hz, 1H), 7.28 (d, J = 8.1 Hz, 2H), 2.74 (t, J = 8.0 Hz, 2H), 1.73 (quintet, J = 8.0
Hz, 2H), 1.49 (hextet, J = 8.0 Hz, 2H), 0.98 (t, J = 8.0 Hz, 3H).

"BuMgCl (4 equiv)
FeF323H,0 (10 mol %)

PhOOTS IPr (20 mol %) - PhO”Bu

Sl-22 THF, reflux, 3 h 2

Representative example (coupling of 4-phenylphenol tosylate SI-22 is used as an example)

An oven-dried 25 ml 2-neck round bottom flask was charged with tosylate SI-22 (0.616 mmol,
1.0 equiv), FeF3.3H,0 (0.061 mmol, 0.1 equiv) and IPr (0.123 mmol, 0.2 equiv). The flask was
evacuated and back filled with N,, THF (0.1 M) was added and the reaction mixture was heated
to reflux. Next, a solution of n-butyl magnesium chloride in Et,0 (2 M in Et,0, 2.46 mmol, 4
equiv) was added slowly to the refluxing solution. The reaction mixture was refluxed for 3 h.
After cooling the round bottom flask to 23 °C, the reaction was quenched with 1 M HCI (3 ml).

11



The layers were separated and the aqueous layer was extracted with diethylether (2 X 5 ml).
The combined organic layers were washed with brine, dried over MgSO, and concentrated
under reduced pressure. The crude residue was purified by flash chromatography (50:1
Pentane:EtOAc) to yield SI-31 (74% vyield) as a colourless oil. Spectral data match those
previously reported.®

'H NMR (CDCls, 400 MHz) & 7.65 (d, J = 8.1 Hz, 2H), 7.54 (d, J = 8.1 Hz, 2H), 7.45 (t, J = 7.6 Hz,
2H), 7.34 (t, J = 7.4 Hz, 1H), 7.28 (d, J = 8.1 Hz, 2H), 2.74 (t, J = 8.0 Hz, 2H), 1.73 (quintet, J = 8.0
Hz, 2H), 1.49 (hextet, J = 8.0 Hz, 2H), 0.98 (t, J = 8.0 Hz, 3H).

MeOO”Bu

SI-32
SI-32 (Table 2, entries 1 & 2). Purification by flash chromatography (75:1 pentane:EtOAc)
yielded SI-32 as a colorless oil. Spectral data match those previously reported.9

'H NMR (CDCls, 400 MHz) & 7.09 (d, J = 8.6 Hz, 2H), 6.87 (d, J = 8.6 Hz, 2H), 3.78 (s, 3H), 2.62 (t, J
= 8.0 Hz, 2H), 1.57 (quintet, J = 8.0 Hz, 2H), 1.35 (hextet, J = 8.0 Hz, 2H), 0.92 (t, J = 8.0 Hz, 3H).

SI-33
SI-33 (Table 2, entries 3 & 4). Purification by flash chromatography (75:1 pentane:EtOAc)
yielded SI-33 as a colorless oil.
TLC: Rf = 0.40 (hexanes:EtOAc = 4:1)
'H NMR (CDCls, 400 MHz) & 7.82 (d, J = 7.8 Hz, 2H), 7.73 (d, J = 7.7 Hz, 2H), 3.20 (t, J = 7.5 Hz,
2H), 3.07 (s, 3H), 2.31 (quintet, J = 7.3 Hz, 2H), 1.97 (hextet, J = 7.3 Hz, 2H), 1.56 (t, J = 7.3 Hz,
3H).
B3C NMR (CDCl3, 101 MHz) 6 140.62, 135.58, 129.55, 127.77, 35.71, 34.23, 22.92, 16.98, 14.55.
HRMS (EI) Calcd. for C;1H46S, 180.0973. Found: 180.0968.

FTIR (NaCl) 2956, 2925, 2856, 1494 cm™.
FiC

"Bu
FsC sl-34

12



SI-34 (Table 2, entries 5 & 6). Purification by flash chromatography (100% pentane) yielded SI-
34 as a colorless oil.

TLC: Rf = 0.9 (100% pentane)

'H NMR (CDCls, 400 MHz) & 7.68 (s, 1H), 7.60 (s, 2H), 2.72 (t, J = 8.0 Hz, 2H), 1.63 (quintet, J =
8.0 Hz, 2H), 1.36 (hextet, J = 8.0 Hz, 2H), 0.94 (t, J = 7.3 Hz, 3H).

3C NMR (CDCls, 101 MHz) & 145.13, 131.88 (q, J = 33.3 Hz), 128.45, 127.50 (q, J = 273.7 Hz),
119.78 (quintet, J = 4.0 Hz), 35.32, 33.13, 22.20, 13.76.

HRMS (EI) Calcd. for Cq,H12Fg, 270.0843. Found: 270.0836.

FTIR (NaCl) 3429, 1652 cm™.

"Bu

F3C sl.35
SI-35 (Table 2, entries 7 & 8). Purification by flash chromatography (100% pentane) yielded SI-
35 as a colorless oil. Spectral data match those previously reported.™

'H NMR (CDCls, 400 MHz) & 7.43 (s, 2H), 7.41—7.33 (m, 2H), 2.71 (t, J = 8.0 Hz, 2H), 1.69
(quintet, J = 8.0 Hz, 2H), 1.43 (hextet, J = 8.0 Hz, 2H), 0.94 (t, J = 8.0 Hz, 3H).

s

S1-36

SI-36 (Table 2, entries 9 & 10). Purification by flash chromatography (100:1 pentane:EtOAc)
yielded SI-36 as a colorless oil. Spectral data match those previously reported.™

'H NMR (CDCls, 400 MHz) & 8.08 (d, J = 8.2 Hz, 1H), 7.90 (d, J = 8.2 Hz, 1H), 7.73 (d, J = 8.1 Hz,

1H), 7.57 = 7.46 (m, 2H), 7.42 (t, J = 7.6 Hz, 1H), 7.35 (d, J = 6.8 Hz, 1H), 3.15 (t, J = 8.0 Hz, 2H),
1.84 (quintet, J = 8.0 Hz, 2H), 1.56 (hextet, J = 8.0 Hz, 2H), 1.01 (t, J = 8.0 Hz, 3H).

By

SI-37

13



SI-37 (Table 2, entries 11 & 12). Purification by flash chromatography (100% pentane) yielded
SI-37 (35% yield) as a colorless oil.

TLC: Rf =0.70 (100% pentane)

'H NMR (CDCls, 400 MHz) & 7.28 — 7.07 (m, 4H), 3.18 (hept, J = 7.0 Hz, 1H), 2.64 (t, J = 8.0 Hz,
2H), 1.55 (quintet, J = 8.0 Hz, 2H), 1.41 (hextet, J = 4 Hz, 2H), 1.24 (d, J = 6.9 Hz, 6H), 0.95 (t, J =
7.3 Hz, 3H).

C NMR (CDCls, 101 MHz) & 146.44, 139.56, 129.30, 126.04, 125.41, 125.13, 33.97, 32.59,
28.50, 24.03, 22.80, 13.99.

HRMS (EI) Calcd. for C13H20, 176.1565. Found: 176.1564.

FTIR (NaCl) 3446, 2960, 2926, 1652, 1457 cm™".

"Bu
N/
SI-38
SI-38 (Table 2, entries 15 & 16). Purification by flash chromatography yielded SI-38 as a
colorless oil. Spectral data match those previously reported.*?

'H NMR (CDCls, 400 MHz) & 8.41 (s, 2H), 7.45 (d, J = 7.7 Hz, 1H), 7.16 (dd, J = 7.7, 4.8 Hz, 1H),
2.63 (t,J=7.3 Hz, 2H), 1.65 (quintet, J = 7.3 Hz, 2H), 1.40 (hextet, J = 7.3 Hz, 2H), 0.90 (t, /= 7.3

Hz, 3H).
o)
e

SI-39
SI-39 (Table 2, entry 17). Purification by flash chromatography (75:1 Hex:EtOAc) yielded SI-39
as a colorless oil and 2-methoxy naphthalene as an inseparable mixture (81% vyield, 8.6:1 ratio
by NMR). Spectral data match those previously reported.™

'H NMR (CDCls, 400 MHz) & 7.65 (dd, J = 9.0, 3.8 Hz, 2H), 7.52 (s, 1H), 7.28 (dd, J = 8.4, 1.5 Hz,

1H), 7.11 (dd, J = 7.9, 5.4 Hz, 2H), 3.90 (s, 3H), 2.78 (t, J = 8.0 Hz, 2H), 1.73 (quintet, J = 8.0 Hz,
2H), 1.44 (hextet, J = 8.0 Hz, 2H), 0.93 (t, J = 8.0 Hz, 3H).

14



MeO O "Bu

S1-40
SI-40 (Table 2, entry 19). Purification by flash chromatography (20:1 Hex:DCM) yielded SI-40 as

a colorless oil and 1-methoxy naphthalene as an inseparable mixture(58% vyield, 10.6:1 ratio by
NMR).

TLC: Rf = 0.5 (hexanes:DCM = 10:1)

'H NMR ( CDCls, 400 MHz) 6 8.36 (dd, J = 8.2, 1.0 Hz, 1H), 8.03 (d, J = 8.0 Hz, 1H), 7.54 (dddd, J =
20.2, 8.0, 6.8, 1.3 Hz, 2H), 7.25 (d, J = 7.8 Hz, 1H), 6.76 (d, J = 7.8 Hz, 1H), 4.02 (s, 1H), 4.00 (s,
3H), 3.03 (t, J = 8 Hz, 2H), 1.75 (quintet, J = 8 Hz, 2H), 1.49 (hextet, J = 8 Hz, 2H), 1.02 (t, J = 7.3
Hz, 3H).

C NMR (CDCl3, 101 MHz) & 153.97, 132.70, 130.85, 127.45, 126.39, 126.14, 125.96, 125.86,
125.47, 125.17, 124.70, 123.77, 122.57, 120.23, 103.77, 103.40, 55.43, 33.13, 32.37, 22.87,
14.06.

HRMS (EI) Calcd. for C15H130, 214.1358. Found: 214.1355.

FTIR (NaCl) 3449, 2928, 1635, 1586, 1463, 1390, 1270, 1244, 1157 cm™.

Sl-41
SI-41 (Table 3, entries 2 & 5). Purification by flash chromatography (100:1 pentane:EtOAc)
yielded SI-41 as a white solid. Spectral data match those previously reported.**

'H NMR (CDCls, 400 MHz) & 7.60 — 7.54 (m, 2H), 7.51 (d, J = 8.2 Hz, 2H), 7.41 (t, J = 7.6 Hz, 2H),
7.30 (dd, J = 16.1, 7.7 Hz, 3H), 2.60 — 2.47 (m, 1H), 1.98 — 1.80 (m, 4H), 1.76 (d, J = 12.5 Hz, 1H),
1.56 — 1.33 (m, 4H), 1.33 — 1.20 (m, 1H).

Sl-42
SI-42 (Table 3, entry 3 & 6). Purification by flash chromatography (100:1 pentane:EtOAc)
yielded SI-42 as a colorless liquid (65% yield, 6.5:1 branched:linear ratio by NMR). Spectral data
match those previously reported.™
'H NMR (CDCls, 400 MHz) & 7.67 — 7.60 (m, 2H), 7.60 — 7.54 (m, 2H), 7.47 (t, J = 7.6 Hz, 2H), 7.36
(t, J = 7.8 Hz, 3H), 3.00 (hept, J = 6.9 Hz, 1H), 2.68 (t, J = 7.3 Hz 0.3H), 1.73 (hextet, / = 7.3 Hz
0.3H), 1.34 (d, /= 6.9 Hz, 6H), 1.03 (t, /= 7.3 Hz, 0.5H).

15



References

1. Pangborn, A. B.; Giardello, M. A.; Grubbs, R. H.; Rosen, R. K.; Timmers, F. J., Safe and
Convenient Procedure for Solvent Purification. Organometallics 1996, 15 (5), 1518-1520.

2. Quasdorf, K. W.; Riener, M.; Petrova, K. V.; Garg, N. K., Suzuki-Miyaura Coupling of
Aryl Carbamates, Carbonates, and Sulfamates. Journal of the American Chemical Society
2009, 131 (49), 17748-17749.

3. Leowanawat, P.; Zhang, N.; Resmerita, A.-M.; Rosen, B. M.; Percec, V., Ni(COD)2/PCy3
Catalyzed Cross-Coupling of Aryl and Heteroaryl Neopentylglycolboronates with Aryl and
Heteroaryl Mesylates and Sulfamates in THF at Room Temperature. The Journal of Organic
Chemistry 2011, 76 (24), 9946-9955.

4. Nguyen, H. N.; Huang, X.; Buchwald, S. L., The First General Palladium Catalyst for the
Suzuki-Miyaura and Carbonyl Enolate Coupling of Aryl Arenesulfonates. Journal of the
American Chemical Society 2003, 125 (39), 11818-11819.

5. Ogata, T.; Hartwig, J. F., Palladium-Catalyzed Amination of Aryl and Heteroaryl
Tosylates at Room Temperature. Journal of the American Chemical Society 2008, 130 (42),
13848-13849.

6. Tang, Z.-Y.; Hu, Q.-S., Room-Temperature Ni(0)-Catalyzed Cross-Coupling Reactions of
Aryl Arenesulfonates with Arylboronic Acids. Journal of the American Chemical Society 2004,
126 (10), 3058-3059.

7. Ackermann, L.; Kapdi, A. R.; Fenner, S.; KornhaaR, C.; Schulzke, C., Well-Defined Air-
Stable Palladium HASPO Complexes for Efficient Kumada—Corriu Cross-Couplings of
(Hetero)Aryl or Alkenyl Tosylates. Chemistry — A European Journal 2011, 17 (10), 2965-2971.

8. Littke, A. F.; Schwarz, L.; Fu, G. C., Pd/P(t-Bu)3:2 A Mild and General Catalyst for Stille
Reactions of Aryl Chlorides and Aryl Bromides. Journal of the American Chemical Society
2002, 124 (22), 6343-6348.

9. Vechorkin, O.; Proust, V. r.; Hu, X., Functional Group Tolerant Kumada-Corriu-Tamao
Coupling of Nonactivated Alkyl Halides with Aryl and Heteroaryl Nucleophiles: Catalysis by a
Nickel Pincer Complex Permits the Coupling of Functionalized Grignard Reagents. Journal of

the American Chemical Society 2009, 131 (28), 9756-9766.

10. Kanemura, S.; Kondoh, A.; Yorimitsu, H.; Oshima, K., Nickel-Catalyzed Cross-Coupling
Reactions of Alkyl Aryl Sulfides and Alkenyl Alkyl Sulfides with Alkyl Grignard Reagents Using
(2)-3,3-Dimethyl-1,2-bis(diphenylphosphino)but-1-ene as Ligand. Synthesis 2008, 2008
(EFirst), 2659-2664.

16



11. Funabiki, K.; Murase, Y.; Furuno, Y.; Kubota, Y.; Ebihara, M.; Matsui, M., Synthesis and
hydrogenation of (E)-y-aryl-y-morpholino-a-trifluoromethylated allyl alcohols through the
reaction of trifluoroacetaldehyde ethyl hemiacetal with enamines. Tetrahedron 2010, 66 (18),
3283-3289.

12. Nakao, Y.; Takeda, M.; Matsumoto, T.; Hiyama, T., Cross-Coupling Reactions through
the Intramolecular Activation of Alkyl(triorgano)silanes. Angewandte Chemie International
Edition 2010, 49 (26), 4447-4450.

13. N3jera, C.; Gil-Molto, J.; Karlstrom, S., Suzuki—Miyaura and Related Cross-Couplings in
Aqueous Solvents Catalyzed by Di(2-pyridyl)methylamine-Palladium Dichloride Complexes.
Advanced Synthesis & Catalysis 2004, 346 (13-15), 1798-1811.

14. Firstner, A.; Martin, R. n.; Krause, H.; Seidel, G. n.; Goddard, R.; Lehmann, C. W.,
Preparation, Structure, and Reactivity of Nonstabilized Organoiron Compounds. Implications
for Iron-Catalyzed Cross Coupling Reactions. Journal of the American Chemical Society 2008,
130 (27), 8773-8787.

15. (a) Lohre, C.; Droge, T.; Wang, C.; Glorius, F., Nickel-Catalyzed Cross-Coupling of Aryl
Bromides with Tertiary Grignard Reagents Utilizing Donor-Functionalized N-Heterocyclic
Carbenes (NHCs). Chemistry — A European Journal 2011, 17 (22), 6052-6055; (b) Jiang, M.; Liu,
L.-P.; Shi, M.; Li, Y., Gold(l)-Catalyzed Tandem C-H and C-C Activation (Cleavage). Organic
Letters 2009, 12 (1), 116-119.

17



~5000

~4500

~4000

~3500

~3000

~2500

~2000

~1500

~1000

~500

66¢C—

mmNg
e,
b/
5E/+
mmNA
9€°/A
LELA
L€',
L€',
L
€L
S/
S/
b,
95/
954
L5
85/
86/
657
09°/1
1977

TAb141final
TAb141final

OSO2NMe2

Ph

1

009

y0'C

ﬁhoé

18

6
f1 (ppm)

12 11 10

13



~1600
;1500
;1400
;1300
;1200
;1100
;1000
;900
;800
;700
;600
;500
;400
;300
;200

~100

—-100

TAb141Cfinal 3 8 3¥83% ~
TAb141Cfinal ¢ & ZZRRA 3
| | N
I |
PhOOS%NMeQ
1 |
I
|
|
WMMMWWMWWMWWWMMWWWWMWWWMM
230 210 190 170 150 130 110 9 8 70 60 50 40 30 20 10 -10
f1 (ppm)

19



2100
2000
1900
1800
1700
1600
1500
1400
1300
1200
1100
1000
900
800
700
600
500
400

~300
~200
~100

—-100

LTLy
67,
€L
A
9€'/A
v, W
Sb'L—F
1v1-f
€52
552
092
Nox%
79,

B

/

TAb224at70
TAb224at70

By

Ph

A e6e
H\.:.N

vz |

F00'¢

98'T

=P6'T |

A oo,
tes:

6
f1 (ppm)

12 11 10

13

20



~9000

~8000

~7000

~6000

~5000

~4000

~3000

~2000

~1000

TAb126H1 NERRREREE 3 9
NNNNNNNKNKNKN ~ ~
TAb126H1 ShLNNGN)SRERERLY -
MeS@OSOQNMeQ
SI-5 }{
Table2, entry3
Il
ﬂl L
e oo
i O o
S Qo QS
AN N N o™
4 13 12 11 10 9 8 7 6 3 -1


silascook
Typewritten Text

silascook
Typewritten Text

silascook
Typewritten Text

silascook
Typewritten Text
Table 2, entry 3

silascook
Typewritten Text

silascook
Typewritten Text

silascook
Typewritten Text

silascook
Typewritten Text

silascook
Typewritten Text

silascook
Typewritten Text

silascook
Typewritten Text

silascook
Typewritten Text

silascook
Typewritten Text

silascook
Typewritten Text

silascook
Typewritten Text

silascook
Typewritten Text

silascook
Typewritten Text


TAb126C13 = S ] ~ " ~4000
TAb126C1 T 5 RSY 3 S
| |
-3500
MeSOOSOQNMeQ
SI5 -3000
Table2, entry3
-2500
-2000
-1500
|
|
~1000
| -500
I |
l Lj | | " _0
230 210 190 170 150 130 110 90 8 70 60 50 40 30 20 10 O -10
f1 (ppm)

22


silascook
Typewritten Text

silascook
Typewritten Text
Table 2, entry 3


TAb273H1
TAb273H1

FaC

QOSOzN Me2

FsC
SI-7

Table2, entry5

778
772
3.04

=

~2500

~2000

~1500

~1000

~500

12 11 10

w 4 6.02—=


silascook
Typewritten Text
Table 2, entry 5


-19000
;18000
;17000
;16000
;15000
;14000
;13000
;12000
;11000
;10000
;9000
;8000
;7000
;6000
;5000
;4000
;3000
;2000
;1000

—-1000

TAb273C13 RONRIOHBMLMmE AN T <+
TAb273C13 RRRANRYNNIRSRSE 3
| S e
FsC
QOSOzNMez
FiC
SI-7 |
Table2, entry5
|
I
|
|
230 210 190 170 150 130 110 90 80 70 60 50 40 30 20 10 -10
f1 (ppm)


silascook
Typewritten Text
Table 2, entry 5


TAb272final MNNHQRNY

TAb272final 'gg% DUDS

QOSOQNMGQ

FaC
* sl9

Table2, entry7

2.99

_
—

~7500
;7000
;6500
;6000
;5500
;5000
;4500
;4000
;3500
;3000
;2500
;2000
;1500
;1000

~500

—-500

W 4 6.00=


silascook
Typewritten Text
Table 2, entry 7


2000
-1900
-1800
-1700
-1600
-1500
OSOsNMes L
;:: -1400
FsC s
SI-9 -1300
Table2, entry7 i
-1200

| -1100
1000
900
800
700
600
500
400
' 300
200
! 100

TAb272Cfinal ARIARINACITINNRAIGIRR

TAb272Cfinal RPOMNOMARNANNNNANNNIREER
D o T o B o B o B o B e B e B e B o O o B o B o I e R e B B o B o B o |
| I I S [ N N —

38.67

—-100
--200

230 210 190 170 150


silascook
Typewritten Text
Table 2, entry 7


f2500
f2400

2300
12200
-2100
2000
L1900
L1800
L1700
L1600
L1500
L1400
L1300
L1200
L1100
L1000
1900

1800

1700

600

1500

400

f300
j200
~100

T-IOO
--200

=/

91,
9T,
LT'L
8T,
6T,
0c¢L
0cL
L
L
1A
veL
1€L
1€L
[4 YA
[4 YA
13 WA
124
veL

TAb115final
TAb115final

C;:)SOQNMGZ

SI-13
Table2, entry11

E¢g6's

E88'S

00T |

7 00°¢

BeeT |

6
f1 (ppm)

12 11 10

13

27


silascook
Typewritten Text
Table 2, entry 11


TAb115Cfinal U KRRT o —_ I~
TAb115Cfinal §F $88% 3 oo 5400
T ESS LT
2200
OSOsNMes -2000
SI-13 1800
Table2, entry11
-1600
| -1400
' -1200
~1000
~800
~600
|
~400
|

200
WMWMMWWWMMMWMMWMWM‘O
~--200

230 210 190 170 150 130 110 90 80 70 60 50 40 30 20 10 0 -10

f1 (ppm)

28


silascook
Typewritten Text
Table 2, entry 11


TAb110a T T INEEEEERER g 8
NNNNNNKNNNNNNNNKN %) ~
TAb110a AN
o)
Q OSOZvalez
SI-17
Table2, entry17
|
il I
e i T
Eaa&3 & 3
Nooo- ™ ©
4 13 12 11 10 9 8 7 6 4 3 -1

12100
2000
1900
1800
1700
1600
1500
1400
1300
1200
1100
1000
900
800
700
600
500
400
1300
200
100

—-100



silascook
Typewritten Text
Table 2, entry 17


TAb110Cfinal
TAb110C13fina

o)
Q OSOzNMez

SI-17
Table2, entry17

MMWWWMMWWWWWWMWW

157.90

—146.08

—105.73

55.32

38.77

~1200

~1100

~1000

~900

~800

~700

~600

~500

~400

~300

-200

-100

—-100

230 210 190 170

150

130

110

f1 (ppm)
30


silascook
Typewritten Text
Table 2, entry 17


~7000
;6500
;6000
;5500
;5000
;4500
;4000
;3500
;3000
;2500
;2000
;1500
;1000

~500

—-500

TAb207final BBRIRINNNII2B8R88 Q
t NNNNNNNNNNOBooboowwoo ~
TAb207final AN
MeS—4<::>}—OTs
Sl-24
Table2, entry4 / // [
[
|I III |
AR A T
83888 =)
NN ©
4 13 12 11 10 9 8 7 6 -1


silascook
Typewritten Text
Table 2, entry 4


TAb207Cfinal VR EARIIR o o
TAb207Cfinal TYRNSERY = n
NSNS |
MeS—4<::>}—OTs |
Sl-24 !
Table2, entry4 l
|
|
' |
|
|
WWMWWW'WMWMWWWWWMW
230 210 190 170 150 130 110 % 8 70 60 50 40 30 20 10 o0 -10
f1 (ppm)

32

~1ZUU

~1100

~1000

~900

~800

~700

~600

~500

~400

~300

~200

~100

—-100



silascook
Typewritten Text
Table 2, entry 4


TAb279final oNoNYY ©
i NNNKNKKNKKN ~
TAb279final AN EH
FsC
FsC
SI-25
Table2, entry6
L.
T
8
o™

~6500

~6000

~5500

~5000

~4500

~4000

~3500

~3000

~2500

~2000

~1500

~1000

~500

10

—-500


silascook
Typewritten Text
Table 2, entry 6


m11UU
~1000

~900
~800

~700

~600

~500

-400
-300
-200
-100

(9'TC—

9T'8TT+
SL°02TH
8£°02T1
28°02T+
98'0¢11
06°0CT
£6°02T
(reen
69'€TT
ovomﬁ/

159°8¢T
80°0€T
CETETN

TAb279Cfinal
TAb279Cfinal

i::)}—OTs

FsC
FsC

SlI-25
Table2, entry6

-10

% 80 70 60 50 40 30 20 10
34

210 190 170 150 130 110
f1 (ppm)

230


silascook
Typewritten Text
Table 2, entry 6


~3000

~2800

~2600

~2400
~2200

~2000

~1800

~1600

~1400

~1200

~1000

-800

~600

~400
-200

—-200

20T~
0T

S
b0'€
90°€
80°€
60°€
1483
€1°€
ST°€E
107
10/
€072
€07/
L0°LA
A
607,
60
12
112
LT,
8T/
6T,
172
172
€TL
€TL
vz
YAl
s/
67,
18]
2L
s

TAb206final
TAb206final

o

Sl-28
Table2, entry12

=$0'9

e |

E00'T

6
f1 (ppm)

12 11 10

13

35


silascook
Typewritten Text
Table 2, entry 12


TAb206Cfinal
TAb206Cfinal

OTs

Si-28
Table2, entry12

_~26.62
__~23.04
~\-21.64

~1500
;1400
;1300
;1200
;1100
;1000
;900
;800
;700
;600
;500
;400
;300
;200

~100

230 210

190 150

130 110
f1 (ppm)

—-100


silascook
Typewritten Text
Table 2, entry 12


~5500

~5000

~4500

~4000

~3500

~3000

~2500

~2000

~1500

~1000

~500

06'0
6’0
¥6'0
0€'T
[49!
pE'T
9E'T
LE'T
6€'T
€S71
GS'T
9G°'T
(ST
6S'T
19°'1
€9°¢
mm.NV

mm.N.\.

8, €—

189
189
€89
€89

¥8'9
807
0T,

TAb252
TAb252

/

"By

MeO

SI-32
Table2, entriesl & 2

~opg
H\.wﬁ 4

vETT

EE0e |

=00°€

P81
=881

--500

6
f1 (ppm)

12 11 10

13

37


silascook
Typewritten Text
Table 2, entries 1 & 2


~1400

~1300

~1200

~1100

~1000

~900

~800

~700

~600

~500

~400

~300

~200

~100
—-100

I=n
9G°'T
8G°'T
6’1
S6'T
L6'T
66T
10°¢

LT°¢
61'¢C
|Yar4
€t

TaN4
L0°€

8T°¢
om.mwu
e

L
Y.L
182
€8,

TAb253H1
TAb253H1

"Bu

MeS

SI-33
Table2, entries3 & 4

01T
vL0T

Reog [

0o'¢

6
f1 (ppm)

12 11 10

13

38


silascook
Typewritten Text
Table 2, entries 3 & 4


TAb253C13 YBBR T ~10000
TAb253C13
FN NN \Y4 [N
~9000
MeS—4<::>FﬂBu 8000
SI-33 r
Table2, entries3 & 4
7000
~6000
~5000
4000
~3000
|
~2000
I Lo
~1000
Loy
l l LL “ L _0
r— -~ r - 1 + 1 1+ 1.1 1 1.1 1 111 ~ 1+ 1 *~ T *~ T +* T * T * T ‘' T * T * T * T —-1000
230 210 190 170 150 130 110 90 80 70 60 50 40 30 20 10 O -10

f1 (ppm)
39


silascook
Typewritten Text
Table 2, entries 3 & 4


2300
12200
2100
-2000
-1900
1800
1700
1600
1500
1400
1300
1200
1100
1000
900
800
f700
-600
f500
400
1300
200
100

100
200

0974~
89/~

TAb283H1
TAb283H1

FsC

o
FsC sl-34

Table2, entriess & 6

Asee
vLTT

vore |

=Ee0'¢

< L6T |

00T

i

1

o

i

o~

™M

<

LN
~N
g

O o
p—
—i
Y

~

(o)

(o))

o

i

—i

—i

o~

i

™

i

<

40


silascook
Typewritten Text
Table 2, entries 5 & 6


;15000
;14000
;13000
;12000
;11000
;10000
;9000
;8000
;7000
;6000
;5000
;4000
;3000
;2000

~1000

—-1000

TAb283C13 ABRNFLRIRERERECSH Nm o v
TAb283C13 SEEEEEEEREEEEEE FER
| =/ F———— \ o/ | |
F5C
FsC sl.34
Table2, entries & 6
|
I |
|
|
I |
L
I |
mewwmwmmmm
230 210 190 170 150 130 110 90 80 70 60 50 40 30 20 10 -10
f1 (ppm)

41


silascook
Typewritten Text
Table 2, entries 5 & 6


-3200
~3000
~2800

~2600

-2400

~2200

~2000

~1800

~1600

~1400

~1200

~1000

~800

~600

~400

~200

—-200

9€L
mmNW
6EL

mvN\

TAb276
TAb276

FsC sl.35
Table2, entries7 & 8

Apee
vEbT

il

=007 |

6
f1 (ppm)

12 11 10

13

42


silascook
Typewritten Text
Table 2, entries 7 & 8


2200
2100

2000

~1900
~1800

1700
1600
1500
1400
1300
1200
1100
1000
1900
800
1700
600
500
400
1300
1200
100

—-100
--200

660
10T
€01
SH'T
JA A
8Y'T
0S°'T
[4°l!
ST
vLT
9T
LLT
LLT
6T
64T
181
80°€
oH.mV

NH.m.\.

124
9€Y”
ov'L
(444
vl
A4
Lyl
6L
152
15°2
1WA
1WA
GSL
S5,
L
Y.L
98/
(8L
6872
0’8
60’8

.

TAb259
TAb259

f

SI-36
Table2, entries9 & 10

\ooe

il

H\.NO.N

=00'¢

6
f1 (ppm)

12 11 10

13

43


silascook
Typewritten Text
Table 2, entries 9 & 10

silascook
Typewritten Text


~1000

~900

~800
~700

~600

~500

~400

~300

~200

~100

mm.og
mm.og
£601
€T
SCTH
8¢ T
0v' 1+

[4 A%
12!
[4°]!
€1
SG'T
SG'T
ST
(ST
6S'T

29'¢
$9°¢
99'C
ETe
14N
9T°¢
8T°¢
0ce
TCE
€Ce

0T,
012
TL
ITL
[4 WA
1A WA
STZL
9T,
LT'L

8T,
61,
0¢L
S¢L
9¢L
LTt

TAb255H1
TAb255H1

o
SI-37
Table2, entriesl1 & 12

7 00'€
/0€9

e |

9’

10T |

00T

Foov

6
f1 (ppm)

12 11 10

13

44


silascook
Typewritten Text
Table 2, entries 11 & 12


TAb255C13
TAb255C13

—146.44
—139.56
/13604
12541
125.13
/3397

-34000
-32000
~30000
-28000
"By I
26000

SI-37
Table2, entries1l1& 12 24000

-22000
;20000
;18000
;16000
;14000
;12000
;10000

L | | ~8000
! 6000

~4000

J L u A 22000

—-2000

190 170 150

130 110 % 80 70 60 50 40 30 20 10 O -10

f1 (ppm)
45

230 210


silascook
Typewritten Text
Table 2, entries 11 & 12


~4500

~4000

~3500

~3000

~2500

~2000

~1500

~1000

~500

STZ
9T,
LT'L
8T,
vv.m\
9L

Tv'8—

TAb277a
TAb277

"By

/
SI-38
Table2, entriesl5& 1€

\
N

A 10g
€02

xdl

00T |

=960

=E6°0

Feoe |

6
f1 (ppm)

12 11 10

13

46


silascook
Typewritten Text
Table 2, entries 15 & 16


~2000
~1900

~1800
~1700

;1600
;1500
;1400
;1300
;1200
;1100
;1000
;900
;800
;700
;600
;500
;400
;300
;200
;100

—-100

160
€60
560
€eT
GE'T
LE'T
8¢'T
0’1
[4A0!
[4°h!

99'1T
89'T
0L'T
|VAY4
NN.NV

vm.N.\.

06'E~_
16¢"

6072
ITL
[4 WA
[4 VA
[TL
[TL
6L
6CL
[4VA
€9
9L
99/
L9

NN

TAb268
TAb268

—

By

MeO

SI-39
Table2, entry17

Ap6e
v THT

7 L0 |

=00'¢

86T
=96°0

=60

68T

6
f1 (ppm)

12 11 10

13

47


silascook
Typewritten Text

silascook
Typewritten Text
Table 2, entry 17


~900

~800

~700

~600

~500

~400

~300

~200
~100

00'T
0’1
Y0'T
SH'T
'l
8Y'T
0S'T
[4°l!
Pa'T

(44!
€L1
SLT
SLT
LLT
LLT
64T
10°€

mo.mV

mo.m.\.

00t

a0’y

S/.9
LL9
144
9¢L
6v’L
6t’L
182
1§52
1§52
1WA
1WA
vS'L
§SL
96/
96/
LS,
86/
86
0’8
0’8
SE'8
SE'8
LE'8
LE°8

TAb291H1
TAb291H1

"Bu

MeO

SI-40
Table2, entry 19

H/mo.m

vivd |

H\.Ho.m

F00'C

H/wm.o

€01

ISyAw4ll

m\mm.o

48

6
f1 (ppm)

12 11 10

13


silascook
Typewritten Text
Table 2, entry 19


~1300
~1200

~1100

~1000

~900

~800

~700

~600

~500

~400

~300

~200

~100

—-100

0PT—

£8'CC

LETE~

cree”

€r'es—

Ob'E0T~,
66591
(57T

LLECT
0Ll

A A ot ;o

VA A TAEN =

ey

96'G¢CT
P1°9CT
6€'9¢T

ShLed
S8'0¢T
0£7CET

L6EST—

TAb291C13
TAb291C13

By

MeO

SI-40
Table2, entry 19

AN

-10

30 20 10

40

190 170 150 130 110 90 80 70 60 50
f1 (ppm)49

210

230


silascook
Typewritten Text
Table 2, entry 19


-850

~800

~750

~700

~650

~600

~550

~500

~450

~400

~350

~300

-250

-200
~150
;100
-50

—-50

(et
6L
1€,
[4 YA
6€L
IS A
1344
0S2
[4°YA
968/
86/
86

\Z—

TAb232a
TAb232a

Table3, entries2 & 5

SI-41

LCT

8v'v |

0T'T
9Tt

Eo0'T |

6
f1 (ppm)

12 11 10

13

50


silascook
Typewritten Text
Table 3, entries 2 & 5


~1000

~900

~800

-700
-600
-500
-400

~300
-200
~100

10T
€01
S0°T
pE'T
GE'T

69'T
omé%

2t
CL }

9T
8T

99°'C
mo.NW
0£¢

S6°'C
L6'C
86'C
00°€
0'€
v0'€
S0°€

peL
9€L
8¢,
1 A
JA A
8L
LS,
LS,
6G°L
[4°W4
9L
9L

TAb238
TAb238

Sl-42

Table4, entry8

/

1570

509 |

H\.Hm.o

=10

Eo00'T

51

6
f1 (ppm)

12 11 10

13


silascook
Typewritten Text
Table 4, entry 8


	SI
	Spectra1
	TAb141H1
	TAb141C1
	TAb126H1
	TAb126C13
	TAb273H1
	TAb273C13
	TAb272H1
	TAb272C13
	TAb115H1
	TAb115C13
	TAb110H1
	TAb110c13
	TAb207H1
	TAb207C13
	TAb279H1
	TAb279C13
	TAb206H1
	TAb206C13
	TAb253H1
	TAb253C13
	TAb283H1
	TAb283C13
	TAb255H1
	TAb255C13
	TAb291H1
	TAb291C13
	TAb238H1




